Eluat
LAGA EBedSchv Schaut
bt Sl o R TR PA |21 | 22 | 23 | 34
FO« | 7.0+ | 1.0- | 7.0- -
pH - Wert 125 | 125 | 125 | 125 - 108 | 11 | 1 | 112
LaitfdhigkeR | yS/om | 500 | 1500 ;| 2500 | 3000 . §72 | 788 | 741 | 1170
Chiorld | mgAd | 10 | 20 | 40 | 150 = 11 | 18 | 680 | 1.8
Suffat- | mgd | 50 | 150 | 300 | 600 | - 270 | 116 | 6o | 286
Arsen pgh | 10 | 10 | 40 | 50 | 10 | 0,58 | <05 | <65 | <0.5
Biel * | gl | A 40 100 | 100 | 25 | <1 <1 < 1
Cadmiurn | i 2 2 [ E | 8§ <03 | «0,3 | <03 | <DB3
Chrom | pgd | 15 | 30 | 75 | 100 50 88 | 11 | 58 N
Kupfer | pgf | 50 | 50 | 150 | 200 | 54 2 A7 | 23§ 14
Nickel poft | 40 | 50 | 106 | 100 50 13 | 1.8 | 14 | 24
Quecksilber | pgd | 6.2 | 02 | 1 Z 1 <0,2 | <02 | <0,2 | <0,2
Zink pgh | 400 | 100 | 300 | 400 | 500 | =i0 | <i0 | <i6 | <10
Fhenolindex| pgft | <10 10 50 100 20 <f <5 <8 <%
Feststoff:
[ LAGA BBodSchy Schwf |
"l 5Tz | 242 PW | 34 LI 3A [ Z4
Arsen 26 30 ED 150 128 48 |55 |66 58
Biei 100 | 200 | 300 | 1000 1660 | 71 | 20 | 24 | 36 |
" Cadmium 0,6 ] 3] 10 50 0,31 033 0,37 | 0,41
7 Chrom 50 | 100 | 200 800 1600 | 27 | 41 | 81 | 34
Kupfer 40 | 100 | 200 600 - 1511288 13
Nickel 40 100 | 200 600 350 13 | 15 | 18 | 16
Quecksilber | 0,3 1 3 10 50 <01 | <B4 [ <0.1] <01
Zink 120 | 300 | Bo0 | 1800 : 149 | 123 | 106 | 130
KW 100 | 400 | 500 | 1000 - <100 | <100 | <160 | <100
T PAK i 5 15 75 - BETIERBELY
EOX i 3 5 10 - <] < | <1 | <1 ]
{ _ToC - - - - - 017 [ais018 | 021




